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Wrap up sheet
Use this sheet to calculate the key figures of your scenario and put them in the results boxes on your Target & Results poster. Count bricks in ALL towers!
	Brick
	Energy resource
	Number of bricks
	CO2 emission
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	Oil
	
	x 16 dots  =  
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	Natural Gas 
	
	x 12 dots  =  
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	Coal
	
	x 20 dots  =  
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	Coal with CSS‡
	
	Total dots =  
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	Uranium
	
	Population =          mio.
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	Biomass
	
	CO2 emission per capita 

=  0.6 million tons/dot * 
No. of dots / population
 
 = ________ tons/capita
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	Water
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	Wind
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	Sun
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	Total number of renewable bricks (R)
	
	

	Total number of bricks (T)
	
	

	Share of renewables (R/T)
	              %
	

	Total number of oil and gas bricks
	
	


